(30€ Pepfect)

) Bz swe you
Practice Test - Chapter 1 - Matter and Measurement ¥ ave Wf(;a

Solvs Pwhlc $
W(o:%g a cale.

Directions: Answer each of the following questions.} No calculators are allowed.

For # 1-4, fill in the blanks with physical change (PC), physical property (PP), chemical change
(CC), or chemical property (CP):

C'? 1. Sodium has the ability to react with water. ?(, 3. An ice cube melts.

4%

2. Aluminum has a density of 2.7 g/em’. cC 4. A piece of coal burns.
NTENse : density y B mup. ) mumbihﬁ:j
ELTeN Swe: mass, vol., feus%

5. The difference between an intensive property and an extensive property is that an mtenswe
property is . .. independent 062 e ampunt o€ svbgtamee pv’lfcwlf
6. A compound is dlfferent than a mixture in that a compound . . . Lhe ele ment S aye CL\CM\ cal ‘“f
Combined. Tn 4 mixtwie, Hoe glemonts ave ‘pragsicatly mived .

7. Anelement is defined as ... p 5"!"5‘%4‘4 ¢ . ,
C Hat tannet be spavaled | 7
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For #8-10, circle true or false. Correct all false statements to make them true. ™ °*

For #5-7, finish the statements.

@ F 8. Malleability is an example of a physical, intensive property of metals.

@ F 9. It is possible to separate a compound by use of electrolysis. YA Hlv@ - HL 4+ 01,_

@ F 10. Air is an example of a mixture. A{'IZ s @ WMOGEM@UJ Mi}L‘%Ml’ﬁ}

11. Solids are matter ... L\&M!DS‘ &é’{ Vﬁ" beet np

a. which have a definite shape but no definite volume. &e{ QW
@ which have a definite shape and a definite volume.

‘c. have a definite volume and take the shape of their container. 6}6& < Wpo &g{ vil. o
d. easily compressed and have a definite volume. et

12. The state of matter which contains the particles with the greatest kinetic energy is

a.solids b, liquids (c gases )‘:::D ?ﬂﬂ" dey MOV'C vay ﬁf"{'q

‘metric prefixes and their meanings.

13. Complete the table below. Giga has been done for you!

Prefix Giga Mega, Kilo Milli Micro Nano Pico
Meaning 109 !ob ‘03 ‘0«3 'D.»(, !D——Q ‘O*-!‘lw
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14. Circle the bi%est quantity for each of the following: e M of Vi quswer %Mﬁ

0 metersior 1, )

15. Circle all of the following which of the following is/are NOT correct?
a. There are 1,000 mg in a gram.
b. There are 100 cm in a meter.
¢. There are 1,000 mL in a liter.
There are 100 mm in a centimeter. <~
e. There are 1,000 microjoules in a millijoule. & 7 3
e yug- (laa] LT VO 157y - (000 w3
16. 2.5nmequals... ! Viwdmyl 1T

a. 25X10%9m b. 25X104mm c. 25X10°7cm d.a&b

O mm = | e

17. Underline the significant digits in each of the following measured numbers:
a. 50,500 L b. 0.02500 mg c. 400. miles d. 7.0080 cm3

18. When 125 mg, 1.2 dg, and 1.2223 g are added, how many significant digits does the
answer have? g

a. 2 c. 4 d. 5 e. 6

19. Which of the following have precisely three significant figures? (There may be more
than one correct answer ... circle all answers which have exactly 3 sig fig’s!)
a 0.01 b. 100 ©0.100 {d)o. 00100 e 110

2

20. The molarmass of Hz 4 is calculatedt rough the followmg

H: 2X1.0079 amu When addivg  vouud = O ool place ... {ue

S: 1X32.066 amu o s
0: 4X 15.9994 amu sulbur (¢ UL least accuvate Numbey.

- 1o 0. 0O g}iamf

What is the molar mass (g/mol) of H,S04?

a. 100 b. 98 c. 98.1 d. 98.08 98.079 f. 98.0794

e wéw
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a. 25°C = aﬁg K b. 312K = 3 § oC

21. Fillin the blanks with the correct temperature:

22. Solid carbon dioxide, dry ice, changes directly from a solid to a vapor at 195 K if left in
an open container. What is this temperature in degrees Celsius and Fahrenheit?

a. -789C,468°F  b. -108°C,468°F . 468°C,-108°F 1.789C, -108°F
|45 Choies “A" & "D gre both —787C ... bt
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23. Which is the smallest temperature change?
a. 25°Cto 26°C
b. 25Kto 26 K

(C)25°F to 26°F

d. They are all the same.

| Target #6: I can perform calculations involvingdensity. |

24. A 9.00 gram rectangular solid with a density of 1.5 g/cm3 has a length of 60.00 mm and
a width of 2.00 cm. What is the height of this rectangular solid? (Remember ... no

calculators!)

a. 1.5 mm b. 10.cm c. 1.0 cm d. 5.0 cm

25. An empty container weighs 15.2 grams. When filled with water (density = 1.00 g/mL),
it weighs 35.9 grams. When filled with an unknown liquid to the same mark as it was
filled to with the water, it weighs 36.2 grams. What is the density of the unknown
liquid?

1.01g/mL  d. 0.986g/mL e. 0.00506 g/mL

a. 1.80 g/mlL b. 1.61 g/mL

| Target# 7: I can convert between units by using dimensional analysis.

26. The copper content of a normal healthy human is approximately 1.1 X 104 percent by

mass. How many grams of copper would exist in a person weighing 1.00 X 103 1b?
(1.0kg=2.21b)

a. 0.00050 g b. 0.050g 50g d. 50g e. 50.0¢g

27. The density of an object is 15 mg/m3. What is its density in g/cm3?
a. 1.5X108 b. 1.5X10° ¢ 1.5X10%2 d. 1.5X10°

Part 2: Show all of your work and label your answer with correct units. Please circle
your final answer. You may use calculators!

A pycnometer is a device used to measure density. It weighs 20.455 grams when empty
and 31.486 grams when filled with water. Pieces of an alloy are placed into the empty,
dry pycnometer. The mass of the alloy and the pycnometer is 28.695 grams. Water is
added to the alloy to exactly fill the pycnometer. The mass of the pycnometer, water, and
alloy is 38.689 grams. Assume the density of the water is 1.000 g/cm3, calculate the
density (in g/cm3 and in g/mm3) of the alloy?
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